Rozklad na soucin — vvtvkani

1) 122" - 44 ab’ + 20a%’ =
2)  3xy—9xy* +36xy' =

3)  x-2y+(x-24=

)  3(y+t4)-kiy+4=

5 x(Qa—-b)+2a-b=

6) 3y(k+2l)—k-21=

7))  4(x—4y)-2x+8y=

8)  k(3a+2b)—6a—4b=

9) (bm— v +2(l —6m)=
10)  o(2y—9)—6k(9—2y)=



y
2)
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)
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Rozklad na souc¢in — uzitim vzorcu

e — 64 = 9) 64—16p+p =
144>~ 100s>=  10)  9m’ + 6mk + K’ =
9549 = 1)  16s°—40rs + 251" =

c 12) 12 du—36d"—u’=
a—a = 13)  —49 - v’ 14y =
36b"—49¢ = 14) 60s—100—9s* =




Kraceni lomenych vyrazu

-25

r+s
14) =
4+ 2rs+ 57
(a+<)
2q° —’*0

15) ———

Ta+14

2)) —5——=
4a* 16

25)

26)°

27)

29)

30)

31)

32)

34)

a’ +b> —2ab B

a-—>b

2

-5

s+3
8bh + 4u

4b% + 4bu + u?
4a’ +4ab+ b’

3 =377

16a +8b

2
r=r

a’ —2ab+ b’ B

a—>b
+5\
2_975

2u+2v

2u? — 207

s —16
s? —8s+16



	Stránka 1
	Stránka 2
	Stránka 3

